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Avogadro's number = 6.0221415 × 1023

The speed of light = 2.99 792 458 × 108 m / s

Temperature of the Sun's Core = 1.5 x 107 oC
since 15000000 kelvin = 14999726.85 degree Celsius

http://vimeo.com/819138
Distance related to Powers of 10
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http://www.chem1.com/acad/webtext/intro/MOL.html
http://www.xs4all.nl/~johanw/PhysFAQ/Relativity/SpeedOfLight/measure_c.html
http://hypertextbook.com/facts/1997/DedraForbes.shtml
http://vimeo.com/819138
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*Image taken from "Math Makes Sense 9", 
page 59, copyright to pearson education 
Canada

Any number (except 0) with an exponent 0 will equal 1
20 = 1
130 = 1
1990 =1

Why???

Zero Exponent LAW
A power with an interger base, not including 0, and an 
exponent of 0 is equal to 1

(­6)0 = 1
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Try this

Evaluate each expression

a) 50 b) ­(5)0 c) (­5)0 d) ­50
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A place value chart may help

Write 96 713 as a power of 10

96 713  =    90 000      +   6000       +  700        +     10    +      3

= (9 x 10 000) + (6 x 1000) + (7 x 100) + (1 x 10) + (3 x1)

            = (9 x 104) + (6 x 103) + (7 x 102) + (1 x 101) + (3 x100)

Erase to see solutions
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PRACTICE TIME

Page 61­ 62
# 4(a, b)
# 5(a, b, c, d)
#6(a, c, e)
#8( a, c, e)
#9(a, c, e) 
#10 all
#11
#13
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